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abc
O, O, 0O, abc
abec
a ¢ b ¢
abc SO 2 O 1 O, SO
S @® 2=a+c O 4+
2=2a+2b+3c @ @ 2=2b+c




3+X-

x4
1.
1 34.8 100 12 /
A 0.4 B 6.72
C 42.6 D
MnO, MnO,
D
2
CH,COO" NaOH pH
A >7 B <7 C = D
CH,COO" Na*
CH,COO" = Na* Na®* + OH- = CH,COO" + OH-
H* = OH" pH =7 C
2.
3 Na,CO,3. 8% H,05. 8%
NaOHO0. 004% m 2 40 2 | NaOH
A 4.68 B 5.58
ca2.34 D 2.34m
HC ~ NaCl

2x40x10 % x58.5=4.68



3+X-

4 15 | H,0,11.5

NaOH

OH H* OH Mg*
1.5 x0.0115 x 2 =0. 0345

> 0
A G B GHy
C GHy D GHsCH,

B GHy @

B
6 H* =107 /
A AI** NH, SO O
B Na* K* 07" COF
C K* F&" O Mno;
D B&" Na* d° NO;

7 92.5%
80%
1344

1344

45 —
0.4 1 / NaOH
NaOH 34.5
CH,
D
H* =10" /




3+X-

46
Ca CO , Ca OH ,
1344 a,
1344 x 71 + 60 x 74 i
22.4 92.5% x80%
60 x 18 =9180
L]
1.
1 CO HCOOH  CHO COOH o} o,
12 CO H,0 co ,
H,O CcO, HO, m n
0, Co, 12
CHO o, o,
34
B a ba
<b b-a
C. 0. 2625g
25.00 ml 10.00 mol /L NaOH
co , H,0 n+%02—»mcoz+nHzo co |,
H,0 , o, co, 12 H,O |,
e G, Co, 1: 2 34
3 4>1: 2 CO , H,0 ,



B. m ab H,0, n b-a

C. NaOH
2

O.ZI\?I 52% x0.1x0.025 M =210

m n m
—» n=170
m=2 n= 18

_130
18

=4 n

-6 n=5 m=8 n=20
m—6n—5m-8n—18

- 10
m=10 n—18

GsHyO;

2.X Y XY, X n

1n+l 2n+2 3 n+5 4 n+10 5n-3 6 n-6 7n-8
A.1 3 5 B. 4 5 6

C.3 5 6 D.
X Y XY,

A VA X XY,
XY, XY, XY

“ " XY,
MgF, MgCl, CO, 90, NO, SO, CS, X n Y
n-3n+5n+2n-6n+l1 n-8 n+10 D

47 +—




3+X-

438
3.
3. X
6 1-x 1-x
A= B.=
3x
C3 D
X
1-x 6
6 1-x
- A
4,
4 A
HNO3
A AGNO, Bl -
NH4SCH
1A B C 2
B HNO, B
c NH,SCN c Fe’* c
C Fe*
NO; Fe** Fe'* Fe'*
NO;

AgBr



3+X-

R—CH,CH=0 + R—CH—CHO

C|)HH

A
R—CH,—CH—C—CHO — > RCH,CH—C—CHO

| e |

R R
2 -1-  H, 2-
13- 13-
D ““ 1
1. 13 ”
Fe, 4 « .
1 FeO, Fe 3% 1 Fe
Co, 1
CaCO,
1 2 1

HO H,S0, HNO,

49 4—

3Fe
Fe;0,




3+X-

50
3Fe
"0,
CO,
NaCO0,
10
X 10 - x
1
1 x=1.2
2. " ”
Zn _H, 1 w 2.,
t2Ha = +ZnsD &
« 2.
65
2
1
n
— m n
m
. 65-2,
65
6.5
X
6.5x2°2_¢ 3 X

65

co, Co,
CaCO, MgCO,
11

+0, Cuo C+0,
—_—

—_—
64 +16

,@1o-x

6.5

 CX0,- CO, _ 56

CacO, 100"

- X=



3+X-

5 ———
56 _ _
, 100x—6.3 x=1.13
3. “ ”
20 36
C . 36, 136 .
100 100
. ®, . 100, .
136 136
20 100
36
136 < 10
36 _ x ] »
136 100
u ” u " u 1
10
110- 20.9
20 60
m 60 10
110- 20.9
100 +20.9
t 20 120
10
t 120 20 x
QuSO,- 5H,0__ 250 _ 5H,0 _ 0 _
o, —20><l60—3l. 25 ZOXCUS)4 —20><160—1l.
31.25 _

20/120 x120- x CuSO,/Cuso,- 5H,0 _ 20
120- 10 - X 120
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1. 1987

3+X-



3+X-

2. 1991 Na,O
2NaNO, +6Na=4Na,0 +N, 1

53 —

Na,O
Na, O, N,
Na, O,
21.1 ” " ”
3. 1988
A A
BCDE
H,S Ca OH ,
A B C D
8 E E
A NH; H,S
B CD




3+X-

54
4. 1991
20
20
1234
1 18 1 2=2x1? 2
2 28 2P° 2 8=2x2? 8
3 3F3F° 2 8=2x22 8
4 433d"4P° 3 18=2x32 18
5 534d"°5F° 3 18=2x3? 18
6 6P 4f*5d"6S 4 18 =2 x4? 32
n nS nP?
n 2 n/l2+1°?
2
n ;2 n 2 ”Tl +1
n+1 2
n > 20
242
4.
5. 1990 R*O
58 4.1
R R R,0



“ " ow

2R+2H,0=2ROH +H, T @
R,0+H,0=2ROH @
o R - R __358
ROH R+17 4.1

o O _R+8 _3.58
2ROH R+17 4.1

35 R RO 3_518
R+8 R+8 _3.58_ R
R+17 R+17 4.1 R+17
117 >R>54
17 54 Rb
Rb,0
Rb 85.5

Rb  xmoL Rb,0 ymoL
85.5x +187y =3.58
{102.5 X+2y =4.1
x=0.02 moL
y=0.01 moL

Rb 0.02x85.5=1.71
Rb,0 0.01x187=1.87

L]

3.84¢

55 —

R+17

Rb




3+X-
56
68 L

Cu +4HNO, =Cu NO, , +2NO, 1 +2H,0
NO, 1.68/22.4=0.075 mol
84/64=0.06 ma

3Cu+8HNO,  =3Cu NO, , +2NO, T +4H,0
HNO, Q xmo
Cu—4HNO,—2NO,
1 4 2
X 4x 2X
3CU——8HNO,—2NO
3 8 2
8 2
y 3V 3y
_3.84 _
x+y_—64 =0.06
2 1.68_
2X + 3y—2—2.4-0.075
x=0.026 mol
{y:O. 034 ol
4x+%y =4><0.06+%><0.034
=0.195 mol
X mol
NO,,
CuU—2HNO,  HNO,—NO,
1 2 1 1
38 1.68
64 y 2.4
x:3'624><2:0.12 mol
y=298_0 075 ma

y mal

NO



3+X-

x+y=0.12+0.075=0.195 mol

n N=n N =2Ng, +Nyo,

MNinog =Ny =2Ngy + Ny

_5,3.84 1.68

= Xﬁ+m:0.195 mal

NO 3
Ve
HNO,

NO, 1

NO, xmd NO ymd

1.68 _ 3.84
xx1+ 22.4-x x3=2x

x=0.0525 mol
0.075- x=0.0225 mol
4HNO, 2NO,  8HNO,

2NO

4 2 8 2

0.052 5 0.0225
_4x0.0525_,8x0.0225
2 2
=0.105+0.090 0=0.195 ma

Niinog

NaHCO,  NH,HCO,

NaHCO,  NH,HCO,

OJ 4’0]2 +

57 —




3+X-

58
NH,HCO,
NaHCO, Na, CO,
Na, GO,
1.
NaHCO, x ~ NH,HCO, y
A
2NaHCO, =—=——==Na,CO, + CCO* 1 +H,01
168 106
x 106,
168
1 _106 -
> X+y =168 xy=42 11
2.
1
A
2NaHCO, =—=—==Na,C0O, +CO’ 1 +H,0*
168 106
X
1 .. 62 v =0
> X+y —y+168x X y=42: 11
3.

NaHCO, 168  NH,HCO, y
2NaHCO, Na,CO, + CO* T +H,01
168 106
% 168 +y =106 y=44

NaHCO, NH,HCO, 168 44 =42 11
4,
NaHCO, Na, HCO,
1
Na XX= 2Na X X+ X —

NaHCO, ~ * ™ Na,C0, Yy "5
szzixzsx X+ i
84"~ 106 y x5

x: y=42: 11

62

62
168



3+X-

5.
NaHCO,
2 1000
168 < 100%
NH,HCO,
100%
50%
100% 22, 100% NH,HCO,%
N
/
0%
62 0 o = 84 9
o % 100% 509 = 15 x 100%
NaHCO, %
NaHCO,  NH,HCO,
84 o 22 % =
oL x100% 22 x100% =42 11

59 —




60

20

3+X-

2Na + CuS0, =—=Na, S0, +Cu |

F, +2NaCl —2NaF +C,

A
Nadl + HNO, ==NaNO, +HC 1
2NaOH +M, HCO, , ==2NaHCO, +M, OH , |

50 200 10
20
20 20.7 50 33.3
Qo Cuso,: 5H,0
50
Cuso,- 5H,0
FeBr, O, FeBr, + Cl, =FeCl, + Br,
Fe** a,
K,S+2HNO, =2KNO; +H,S1

NH,HCO, + OH™ =NH; T +H,O+HCO;
HCO; OH"

o, 74 Ca OH ,



3+X-

11.2 CO,
Co, 74 Ca OH ,
CaCo, CO,

CaCo, +CO, +H,0=Ca HCO, ,
100 22.4
100 - 50 y

100 - 50 y CO,

y=11.2
o,

22.4+11.2=33.6

L]

1 GQXYZ

DG ——Q + Nadl

@Q+H,0—X+H,
®Y +NaOH —G +Q+H,0
@®Z +NaOH —Q + X +H,0

A.QGZYZ B. GYQZX
C. GYZQX D. ZXGYQ

cao,

100

Caco,

61 —




3+X-

62
O  G—Nad G—Q
G<Q @ H,0——H,
Q—X Q<X @@
OX®) B
250,
A.0.1 md/L Cadl,
B.0.1 md/L C,H,ONa
C.0.1 mo/L Ba NO, ,
D.0.1 mo/L NaSO,
C
2
. ” cadl, Ba NO, , S0,
A C 0, 0.1/ mol/L C;H,ONa C,HsOH
0, Ba NO, , O, H,0 H, S0,
NO, - H, S0, H, 0, BasO,
A B ¢ ”
2.
3 1971
0
T +1
H—



3+X-

O—F
4
1 NH,
2 Mg, C,
NH,d Mg,C, NH,d CaC,

NH; +H,O0——=NH,OH +H"
NH,Cl +H,0+——NH,OH +Hd
2MgC, +8H,0——4Mg OH , | +3C,H, 1

NH,Cl Mg,C,
NH;

X

a- H
NH, O + H,0«<—NH, + HOO
G 40H"
A
omgr 4’

Mg,C; +4H,0=CH, T +2Mg OH , |

5 a, NaOH  H,0,

a, do  H,0,

63 —

+1 0
H—O—




3+X-
64

do  H,0,

o,
o +H,0,=0,1 +d" +H,0

“ ”

6 16m H, CH, C,H,
26ml
ml
1 2H, +0, =2H,0
2 2C,H, +50, =4C0, +2H,0
3 CH, +20, =CO, +2H,0
1 2 H, GCH,
H2 C2H2 H2 C2H2
H, GH, X
CH, y 2y
x+y=16
{1.5x+2y:26 y=4ml
4,
7
C,H, 1
C;NHq 80

do”  H,0,

1. 5x

RN

®



3+X-

65 —|—

3 CsNH;q H 79

8 Kdo, 2KdO, +1, =2KIO, +d,
A.
B. I,>d,
C. l,>d,
D. KAO, >1,

C
2KdO, +1, =2KAO, +d,
l, d, l,<d,

5.

9 25 pH=7 NH, ,80, NH,- H,0O NH,

So
A 21 B 21
C 21 D
B NH,- H,O
pH =7 —
OH — H' — NH, — SO 21
pH =7 H* = OH 25
H* + NHS = OH + SO0 NH, =2 SO



3+X-

66
[
1.
1 6 3 X 2 Y
4X +3Y =2Q +nR
5% X
1/3 n

A.3 B.4 C.5 D.6

. 504"
4+3<2+n>5 D
2.
2 4NH, +50, =4NO +6H,0 Vi, Vo, Vo Vino
/
A 415V, =V, B.5/6V5, =Vi0

C. 2/3VNH3 =Vio D,4/5V02 =V,
A VNH3 V02 =54 B. Vo2 VHzoZG 5 C
VNH3 VH20=3 2 D. VO2 Vo =54
D



NO 1

3+X-

67 —
A 0
NO
3 X Cu cu
0.448 . _X _
5y 4 X354 X2 X=1.92

1.92

0, +NO=NO, +0, O+NO, =NO+0,

"o ” “

2NO+0, =2NO,  3NO, + H,0=2HNO, + NO
0, +0=20,




68

5 RCOOR'’

3+X-

R"OH

RCOOR’ +R"OH ————RCOOR" + R’ OH

fCH,—CHI,
CH3—ﬁ—O

—R"

R’

fcH,—CH}, + nCH, ——

10

ch43 c—O

0]

f CHZ—(‘ZH }, +n CH,—C—O—CH,
OH o
6.
6 500 Fe* Cu,,
11
Fe** ou’*

@ Fe*
+Fe=3Fe’"

10
0.3

Fe’*0.3/3=0.1

1/2x0.1x56=2.8 @

R"

—R"

2Fe,,



3+X-

69 ——
cu?t Cu?*0.3/2=0.15 Cu’* +Fe=Cu+Fée"
0.15 Cu** Cu 0.15x56=8.4
Fe3+ C:u2+

Fe** 0.01 /
a?t  2.85 |/

BaCl, + H,S0, =Bas0, | +2HC

Badl, =
H, 0, X 1 1000 x 1. 40 =233X
1000 x1.40 _
X == o33 =6.01 /

8.

8 7.4 100

Na* =0.6 /

A.2.12 B.3.18 C.4.22 D.5.28

Na,CO, Na,CO, =1/2Na"



3+X-

70
NHa,CO, =1/2HNal/2 x 0.6 x 0.1 =0. 03
7.4-0.03 x106 =4.22
C
[
1. 13 ”
1
A
cu H, 0, QusO, Cu+2H,50, —Cu-
0, +S0, T +2H,0 H, S0, 0,
cu H, 0, Cuso,
A
cu 2Cu + 0, —=—2Cu0 H, 0,
H,S0, Qo0  H,%0, CuO + H, S0, = Cuso, +H,0



3+X-

Badl,
Na, SO, + BaCl, =BaS0, | +2NaCl
H,S0, +BaCl, =BasD, | +2HC

2 BaO,
Na, SO,
3 O, CH,
150
A O, CH,
B O, CH,
C Na, CO,
D Na,CO, NaOH

CH, +20, =CO, +2H,0

200, +2Na,0, =2Na,C0, + O,

2H,0 +2Na,0, =4NaOH + 0, 1

CH,
CH,

Na, O, o 0

1 x2+ 2 + 3 x2
B D

Na, S0,

1

BasO,
NaCl

Na, SO,

23.49Na, O,
0 Pa

21
12

0 NaO,

H,0

2CH, + O, +6Na,0, =2Na,CO, +8NaOH

71 —




3+X-

72
4 mgAl,O;, Fe,O,
NaCH Fe*r APRY
100 mL  NaOH
A.0.1 mo/L B.0.05 mol /L
C.0.2 md/L D.
mg
Al, O, , Fe, SO, ,
AR* Na, SO,
NaOH SO;° H, SO, Moo = 2Nh,s0,
2x0.1x % x0.1
. E— =0.01lmol /L A
3.
5 B,N,H,
BSNSHG
B3 N3 HG
BSN3H6
| |
N
A M
HOGH | KRB
()l — )
H—CC—H H—NN-—H
\ \e/
| \
H H
6
MosS,
Na, S As, S,

Na,O + Al,O, =2NaAlO, —Na,S+ As,S, =2NaAsS,
Na,O + SO, = Na, SO, —Na, S+ MoS, = Na,MoS,
4,

100mL pH

H,S0,

1
NaOH

H,S0,

FeS +

N+ =2Ngy Na’

NaOH

Na,S

As,S;

MoS,



3+X-

73 ———
7 D CHO 1md D 4mdQ,
D H, D E0.37gE 25mL
0.2mal /L DE
E D E
0.37 _0.2x25 _
D E M M - 1000 M=74
74 E CH,CH,COOH D
CH,CH,CHO
CH,CH,CHO +40, ——3C0, +3H,0
E CH,CH,C00H D CH,CH,CHO
5.
8
A.72.3% B. 50% C.48.3% D. 38%
Kl +AgNO, =Agl | +KNO,  *
» « AgNO,
Agl " AgNO, AgNO, 1nmd
1molAg 1molAgl 235¢ AgNO, 2359  Ag
1X170 .0 o mo
NO, 235 x100% =72.3% A
9 2%
A.22% B. 32% C. 19. 56% D.2%
Cszo Csz' Hzo C2H2 Csz' Hzo
H,0 CH 11 HO  W,% :% x
72% =6% WHZO% =1-72% - 6% =22% W% :% x22% =19.

56% C
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3+X-



3+X-

75 —

JO.JC]-Iz




3+X-

76

@ 1 ”

@ 1 ”

3.

100 NO, NO
60 NO 10
3NO, + H,0=2HNO, +

NO 60 NO NO, O, NO

BNO +30, +2H,0 =4HNO, +2NO

6 3 2
3 o, 6 NO NO, NO, 2 NO
6-2=4 4 NO 3 o,
60 - 10 NO 0o,
60 - 10 x%=37.5




3+X-

1.
\—cH,
/\—cH,
90%
@A_CH3 /U\B_CHs
A
B

) >

CH,

77 —




— 78
0.5ma Na
@
0.5
0.5molNa
H,
3.
Ba NG, ,
B
4.

3+X-

a 0.5md Mg
Da=b @a>b @a<b
0. 5molNa H,
0. 5molMg H, 1
11.5 0.5molMg 12.0
@®
Na H, Mg
@
Fe, X, , Fe NO, ,
Fe’* A
Na, CO, NaOH



3+X-

79 ———
Na, CO, NaOH co;
OH-
vy OH
n
Bad, Cad, CO% BaCO, CaCO,
NaOH
5.
5% 100
60. 29
95 CaCo,
Ca0 53.2
CaCo,
— co, Ca0 50. 54
16. 2%
6.



3+X-

80
H* H,0* 1 OH" 1 53.72
“ 53.72 ” 1 2
H—O Ba2*
So Ba0,
NaOH + HC = NaCl + H,0 + 57. 32 Ca OH , +
H,S0, = Cas0, +2H,0 + 130. 29 130.29#2 x57.32
Ca2+
7.
i
1.
1 A
<> —NHCOCH,
N,SO,  Br, KOH__ 500
B C D

170

NHO; _ Fe+HC
E——>F——>G—— <_ > —NHCOCH,

H2S04



3+X-

81 ———
1A 2 C
3F 4 G
G < S —NH, E 3HC=CH——

U D @CH3CHZOH
A o,
Q12— @V

@ <> —NH, + CH,CO0H———
< > —NHCOCH, +H,0

®S+ 02 —&)2

(22H,S+30, —2S0, +2H,0
2

4FeS, +110, —2Fe,0, +8S0,
3 H,S0,

A
DCu+2H,50, —CusO, +S0, 1 +2H,0

A
@S+2H,50, —=330,1 +2H,0
4
Na, S0, +H,80, ==Na,S0, +30, 1 +H,0



3+X-

2Cas0, —2Ca0+2%0, 1 +0, 1

82
5
3 1
4
3
1:
3.
5
16
I
[A—B—C _

2 3
X
a%
4
X
3 1- 4
N,O CNO~ OCN" NO; N;
™ =0 +1 £2 A

100 - 3a %



3+X-

83 /——
6 to 0, O 290, + 0, =250,
+Qn tl
1t, o, -t
2 t, 0,
3t t,
4t tg
S) th tll
\% \% t
1 VvV Vv
2V \% a V =V b VvV #
V ¢
L]
1. “ ”
« pH ”
“  pH=9 NaOH pH=11  NaOH
pH " H*

pH



84

3+X-

” ”u

” o



3+X-

“ ”
“ ”
“ ”

85 —




3+X-

86
Fe OH ,
9 = "
20% 9.8 16
NaOH Na, CO,
16 +9.8 - CO, Na, O,
NaOH BaCl,
16 +9.8 - Bay, Hd
16 NaOH N&a, 0, Na,CO, 2.22
9.8+2.22 - CO,
Na, SO, 2.22
16 NaOH Na,CO, BaCO, 3.03
9.8+3.03- CO, - Baso, Na, CO,
Na, SO,

10. “ ”



3+X -
87 +——

“ "o ” i " ” u "

” w ”

10

“ 50 pH =2 100 pH 7



3+X-

88
“1 pH =2 100 R pH=11 NaOH
100 " pH
0.1M
" “ NH,NO,
NaOH " “
K,CO, "
2.
1
A B NaOH C Kd D SO, "
GH, GCHs
_CH2
+2 +3
Fe Fe
(DFeBr, +d,
@Fed, +Br,

®Fe OH , +HNO,
@Fe OH , +HNO,
(BFe OH , +HI
®Fe OH , +HI



©@Q

1

3+X-

89 —

HNO,
Fe HNO,
+2 +3
Fe Fe< Fe
2
5 QusO,- 5H,0 15
1 —2 x100% =25%
15+5
25 O, 5H,0  CQuso, SX%:S.Z

CuS0, % :153_"_:2% > x100% =17.5%

3 3.2, 100% =21%

15
4 i><100% =33.3%
16
55 0, $H,0 QuD,
160
SXﬁZS.Z
CuS0,% = 3.2 x 100% =16%
15+5
5 p
Na, S0, Na* T =2
2 Na* : & =21
3 H,S H . & =2
3.

2: 1

FeS  H,0,




90

H,S
FeS
H,S0,

H,S0,
H,0,
pH ”

FeS

Mg

Al,O,

3+X-

OH

H, 0, ©@
H,S0,

100mlpH =2

Na,S K,S

pH

HC HNO, H,S0,

H,



3+X-

91 —
pH
pH =2 pH =12
pH A=7 B>7 C<7 A
pH=2 pH =12
pH
pH =12 pH
1.1
CH,—C—0—_ > —C—OH
I I
o (0]
1988 20

94 40




92

35
36 37

3+X-

94

17
94

Br, + 2KCIO, = 2KBrO, + d,

information problem



3+X-

93 ——
2
1
@ @®
— ] —
N
N2 d: o)
<«—— CNZ g —
@ ®
<« . )
e I B —
— NaOH
N © ® Fe; SO 3
T — 02 N
d;
] — d,+ H,0=Hd+ HAO

Ha HAO «— — 7




3+X-

94
3.
1
" H* HJO
H+
HCIO
HCIO “ "
2
“ O\I 2 02
CN*  NaOH ” 1
2
] ] b AgOH +2NH, =Ag NH, ; +OH"
Ag NH; ,OH 8 32
°
Ag NH; S Ag*®  NHg

2Ag NH, ; +20H" +CH,CHO—

2Ag| +3NH, +NH, +2H,0 + CH,C00
[P'z’szO:W +Cl~ +HdO
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10. 002



3+X-

“ BasO,
OH ,
“ NaOH
Ba OH , NaOH
50%
1
2

2 x50% +5 x15%
2+5

X

X x100% =25%

100 +x
x=33.33
5 _
3.15-1 x;%=0.54
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CH, g + x+7 0, g —xC0,
g +3H,0 g AVE x+F - laxty =1

y>4 AV>0y=4 AV=0y<4 AV<O
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P" +P" <14 7
@ OH" H*
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X+yl4 X
3 2
Xx+yl4 : 3=x: 2 x y=1. 2
CH, ., H,On
m=1n=1 CH,O
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m=3 n=1 CGH;O
@1: 2 Co,
H,O0 , H,0 /"
GO, + 2x-y [20, —xCO,
2x-y 12 X
1 2
0.52x-y:1=x 2 x y=1.1
CO ,, H,0 ,
m=1n=1 CH,0O,

D 25ml 0.100mal /L NaOH

o, Co,
CoO, , H,O , “ H,0 .
C,O, + 2x-y [20, —>xCO,
0.5 2x-vy X
3 4
0.5 2x-y: 3=x 4 x y=2.1
GO , H,0 ,
1 m=n=1 GH,0O,
CHO- CHO
2AB m
18

C.0O

nb-a

3 HOOC - R- COOH +2NaOH ——NaOOC—R—COONa +2H,0

M 2
0.263 0.025 x0.100
M: 0.263=2: 0.025x0.1 M =210
40m+18n =210
m n m=3 n=5
H,O GHyp O,
HOOC- CHOH , - COOH

GO ,
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[]
1.
©  FeO,
“ A2 B3
10 0
\ @,
H,0, H,0, 0O; H,S0,
10, 1009% =10%

10 +90

285 —
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C% =
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60 84

KNO,

60  KNO,

x _31.5

100~ 25
25

A (:UZ+ Fez+
Cuo

X =126

B C:UZ+ Fe3+
Fe
A

C (:UZ+

3+X-

25
60  KNO,

31.5

CuO
Fe
D Fe’*
Fe

Fe

31.5
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6 H23)4
0.2 H,
A Zn B Cu C Al D Ag E
Fe+H,S0, —FeSO, +H, 1
56 2
6>5.6 0.2
5.6 6 H, 0,
H2$4 H2
H, 2/25<3/24 <7128 Zn
H, A B
H,
Fedl, Na, O,
BaCl, Sor
Na, SO, Na, SO, Fedl,
NaOH
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”

1.84 |/ 5 100

5x1.84 x98%
5x1.84 x98% +100

x100% =8. 27%

100 98%
5x1.84%x2% =0.184 ¢
0.184

“ ”u

8. 26%

98%
2%

98%
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3.

Zn + CuUO=—=Cu +2Zn0O

CuO +H,80, =—=CusO, +H,0

Zn + CuO, =—=Cu + Zn0O,

Zn
n Cu zn

A Fe+H,0O, B. Zn + HNO,
C. Cu+HC D. Mg+ H,S0O,

“« ”

C  HNO, H,SO,

20 NaCl 36 200 NaCl

40

289 —
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NaCl

@ 200 Nad NaClx %
100 +36 : 36 =200: X
x=52.9 ¢
y=200-52.9=147.1 ¢
@ NaCl z
100: 36= 147.1-40 : z
z=38.6 g
@) NaCl
36 NaCl z NaCl
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1
1. 16 R R,O, R
159 89 R
A. 40 B. 31 C. 75 D. 14
C B
PZ OS
2
2 R M, M, R
M, - M, 2M, - M,
A 3 B. 55
2M, + M, M, - M,
c 55 D 27.5
D
R
R R
ROn
2
x+12—6n=M1 x+35.5n=M,
M, - M,
=275
B D
2.
1

alfk
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2
“ 100g
3
3. 84g Fe,O,
6
X
Fe x
84g+x x x100% =849
Fe;O,
_ang x 232
84g+x =849 g
x =329

3Fe+2 O, =—=F¢,0,
168 64

84g x

168: 64 =84Q: X
x=32¢g
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4
Fe, 0,
160 16
. A0, M 6 A B
L]
1.
1 3.1 16.9

220 40 100
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20 36
1 S —
2 e
2.
3 80 10% 120 20%
(D30% (220% (3)16% (4)15%
X 80 x100% + 120 x 20%
=200x x =16%
4 AB XY X Add% Y
A34.4% X AB, Y
@OAB 2A,B (®AB, @DA,B
Y AB
C 10% < C <20%
C 15%
15% < C <20% ® 4
“ " X AB, Ad% Y

A34. 4% Y ®
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3.
5 20 Cu CQuo
16.4
20- 16.4
P102 9
5 ©20+m,, =
m,o +16.4" my, m,, O
m,O0= 20+m,, -16.4 = 20-16.4
4,
5.
6 " ”

“ LI ”ou nou ”ow [ ”u » o

“ nou ”
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2.657 x10°* 16
- x1/12
i
1.
1 Na,CO, NaHCO, 168
158.7 Na, CO,
Na,CO, x NaHCO, 168 - x
A

2NaHCO, =—=Na,CO, +CO, T +H,0

2 x84 44

168 - x 168 - 158.7

x=132.5
CaCO, CO,

CaCo, H,O

NaHCO,
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2.
2 1/ AlCl, 75 2 NaOH 120
Al OH ,
AlI** +30H" = Al
OH,| Al OH ,+OH =AI0, +2H,0 Al OH ,
APt OH- APPY OH-
Al OH ,
Ny OH ;=4n,,, -
r']OH- 1 nA13+ noh-

Nuys. =1 x75ml/1000ml =0. 075

Ng- =2  x120ml/1000ml =0. 24

2 nAl OH ,

n=4n,,, - ng,~ =4x0.075 -0.24 =0.06
3 Al OH ,

W=78 /| x0.06 =4.68




3+X-

298

75

3 s, O o, 25%
0O, O

75%: 25% =3: 1
3/64: 1/32=3: 2

Z|

. B8
(SIS
o

x32=51.24

3+2 3+2

3+1 x32
nSOQ:iX
3+1 x64
x .. 3x _ 1
4x32 4x64 22.4
2.

x=2.29 d =

29 |/

—x=0.4

64

1
0.4 x32 1-0.4 x64

24 T 224 2%
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d =229 /
4,
4 FeCl,
2FeCl, +
3Mg =2Fe +3MgCl,
FeCl,
Ky =1x10""

Fedl,

FeCl, +3H,0—==Fe OH , +3HC
Mg +2HC =—=MgCl, +H, 1
2FeCl, + Mg=—=MgC, +2Fed,

Mg + FeCl, ==MgCl,
+Fe H, H* FeCl, Fe
OH ,




3+X-
300



3+X-
301 4——

RPN

1 H, O, CO, SO, CH, NH, CH, =CH, Hd d, CO

2 273 1.01 x10° 1.20 1.60 4.
00
A.3.36 B.6.72 C.8.96 D.4.48
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RT/P
8.96

22.4

3+X-

PV =nRT
V =nRT/p
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3+X-

SECECECRC)

o, N, MgN, @ ®

5 A
BF, C,Br, I, CHF HO HBr Hl D H,Te H,S% H,S H,0 E
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6  pH 5 1000
1/1000 B 1/100 C 100 D 1000

H+ H+
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